
CHANCHAL COLLEGE 
HOME ASSIGNMENT (2021) 

B.A. PART I (HONOURS) SANSKRIT(Honours) 

Paper Code: I-A & I-B                                                                                     Full Marks: 20+80=100 

 

Paper Code- I A 

Answer all the questions: Each question carries 2 mark 

 

1. How many cantos are there in the kiratarjuniyam? 

(A) 12 

(B) 18 

(C) 19 

(D) 20 

2. Who wrote the Kiratarjuniyam? 

(A) कालिदासः  
(B) भारल ः 
(C) कुमारदासः 
(D) दण्डी 

3. How many cantos are there in “Kiratarjuniyam”? 

(A) 17 

(B) 18 

(C) 20 

(D) 23 

4. Who saw the autumn? 

(A) सीता 
(B) िक्ष्मन  
(C) राम 
(D) ल श्वालमत्र 

5. Mention one commentator of Bhattikavya--- 

(A) कालिदास 
(B) मललिनाथ 
(C) मेधालनलथ 
(D) हररदास 

6. How many cantos are there in Bhattikavya? 

(A) 09 

(B) 11 

(C) 22 

(D) 21 



 

7. How many slokas are there in the Raghuvamsa, Canto-I ? 

(A) 92 

(B) 93 

(C) 94 

(D) 95 

8. How many cantos are there in Raghuvamsa? 

(A) 19 

(B) 20 

(C) 22 

(D) 29 

9. In which गण, three syllables, are ‘िघु’? 

(A) न 
(B) म 
(C) त 
(D) र 

10. Who is the writer of “छन्दोमञ्जरी”?. 

(A) मङ्गादास 
(B) लिङ्गि 
(C) िालणलन 
(D) ितञ्जलि 

 

 

 

Paper code: I-B 
The figures in the margin indicate full marks: - 

 Answer any three of the following questions: -   20x3=60 

  

1. (a) Give an Account of Duryodhana’s administrative policies as revealed in vanecara’s 

speech of Canto- I of Kiratarjuniya.  

 

(b) Give a penpicture of Autumn as you find in the Bhattikavya Canto- II. 

 

(c) Write a note on the language of Bhatti with apt illustrations from Canto- II. 

 

(d) Give a penpicture of the hermitage of Vasistha as you find in Raghuvamsa , 

Canto-I. 

 

(e) Why Dilipa had no son? What was the way pescribed by Vasistha to Dilipa to have 

a son? How did Dilipa follow his instructions?  



      2. Explain in Sanskrit (any two):    5x2= 10 

             (a) कुिप्रणामस्य महीं मलहभूजे 

 लजताां सिते्नन लन ेदलयष्थत: । 

              (b) तां सन्तः श्रोतुमहहलत सदसदब्यलिहते ः । 

                  हमे्नः सांिक्ष्यि ेहाम्नौ लिशुलधः श्यालमकाsलि िा।। 

 

2. Define and illustrate in Sanskrit any two of the following: 5x2= 10 

              रथोधता , द्रिूलििलब त , रुलिरा , लशखररणी , शादूहिलिक्रीलडत, शालिनी ।  

                    

 

 

 

 

 

 

 

 

 

 

 


